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(1) /:ccos(?):cfl)dx

(2) / e dx
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1. ROAEROZHECX. ZE LEDEBRZCZHCEZE. (SHK15208, A#k2540%, B4y, C#H64y)

* WAESE / F(@)g (x) dz = f(2)g(x) — / F(2)g(x) dz
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(1) /xsin2:cdm

= /x . (—% 0052x>/dx
x - (—%005235) - /(m)’ (—%COSQI‘) dx
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= x2e® — 2xe® + 2e® + C <3¢
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(1) /:ccos(?):cfl)dx

:/z'{ésin(i’w—l)}/da:

=z % sin(3z — 1) — /(x)"%sin(?)x —1)dx

= %xsin(3m— 1) — %/sin(3m— 1)dx

:%msin(3x—1)+%cos(3m—1)—|—C

= a3e® — 32%e* + 6 (me‘” - /(m)’e“ da;)

= z3e® — 3z2%e” + 6ze® — 6/6Z dx

= x3e® — 3x2%e® 4 6xe® — 6e® + C
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